Performance Time : 4.19 mi

SWING INTO CHRISTMAS

Including: "Rockin' Around The Chrismas Tree", “I Saw Mommy Kissing Santa Claus",
“Santa Claus Is Coming To Town", “Let It Snow, Let It Snow, Let It Snow" & "White Christmas"

Arranged by Frank Bernaerts

[ Concert Band - Harmonie - Blasorchester |

Moderately with a Swing J =144 "Rockin' Around The Christmas Tree"

W > z = > s e 2 3> s 2 FF & s
Flute 1,2 7 —— t = = = f t = t
Dj
s
5, — \
Oboe = — s = e
o —= £ — == = =z = =17 =
L — 1
] [ . =z - [
Bassoon 1,2 ¥ f i = — } f > E f f =
nf
) > s = = = = - = 5 2 =
B> Clarinet = e i & }
D
s
) 4 —_— — — 4 = yeie
Bb Clarinet 1 =
DR = S — = == = ="
s
5 =
Bb Clarinet 2 =
D E s £ z =z ==
s P
) =
Bb Clarinet 3 =
DR El = z v = 2 S =
= z s z = ~ 7
PYA \ P
Eb Alto Clarinet =
v o— . = = == E
. L
Bb Bass Clarinet =
DR = 3 = 7 = T = =i
s - k4
fs = = s = = e - = = = 5 2 =
E> Alto 1
) f
v p
gy = > = = = = _ = | . _
E> Alto 2
DR f f f = -
S p
p = = = = _ = =
Bb Tenor f f — f i —r f
D t t = t 1
S np
) = —
E» Baritone lg =
7 z L . - nf
) L _— L = Gz
Bb Trumpet/Cornet 1 =
DR = S — = == = =
s o
Bb Trumpet/Cornet 2 ; ; ; ; ; ; o F = 7 — F—
2 z z = = = === f
s 4
5
Bb Trumpet/Cornet 3 T T T T — T —
T2 E S = - T
s
p = > = = > = = = = _ 3
FHom1 = === f =
D -
5 > = = A
FHorn 2 =
v = = = = R
S %
)
FHomn3
S E z = z = E4 = =
_ ~
_ F ez oz B it
C Trombone 1 =% = =
s
C Trombone 2 e t =
s
§ —
C Trombone 3 e =
Z 4 = 4 - = = wf
S e — R S ————
C
s nf
s = —
C Bass B — — — — o s : — — 7 —
E] Ei E] Ed Ej E El El i i
7 ‘ = s nf
Timpani = E:
7 z = z = Z = z
~ e, -
o 30 I g ) 3 3% = ) 3y I 3 3
Drums i 7 7 7 7 7 ? 7 7 7 7
1 1 1 1 1 1 4 1 1 1 1
f = mf
Db et — T + "
D) s = = == = B = —
S 2 3 4 6

For Copyright © Details: please see score.

All Rights Reserved. International Copyright Secured

Authorised edition 2008 : Bernaerts Music bvba, Music Publishers, Willebroek-Belgium, E.C

2008.0580

)
Flute 1,2
=
)
Oboe
D
— Y —
£ T» £ be T > R
Bassoon 1,2
—_—
Eb Clarinet
D
Bb Clarinet 1
Bb Clarinet 2
=
Bb Clarinet 3
& =3 i =3 —
- <]
Eb Alto Clar.
mp
= = \
B lar.
v hd v ¥ ¥ = f E
_— ——
[to Sax. 1
Eb Alto Sax. 2
t e t
Bb Tenor == == = i = f T — f T
f f f t t = t
) \ \ \ \
E Bar. Sax. || 3 — i 3 ; — ; — ; = i —
S = = = = 7 = i
_— =
\ — L \
Bb Trp./Crnt. 1 ; — e i = T + i 3
|7 T
: —= — — —
Bb Trp./Crnt. 2
¥ |z
—
BbTrp./Cmt,Bl ; — — ‘g == —
¥ __ 7 —
)
FHomn 1
D t f = = =
2 —
FHorn 2
o D E——
5
FHomn3
o - R — —= S—
C Trombone 1
C Trombone 2
C Trombone 3
—_—
— . — .. . .
C Euph./Bar.
—_—
C Bass
hd E hd E] v 3 v E = - - = 2
_—
Timpani
3 3 3 J ) J /3 J /3y 3 )
Drums
' f — I f ' f — f — — ' —
5
Glock.
D
8 10 1 12
2




P - 4 . ~ e o £ 7
Flute 1,2
=S|
5 \ \ \ —
Oboe
R =]
P [ — — D
e &£ > £ be
Bassoon 1,2
) — —
Eb Clarinet
L —
e e : ——
Bb Clarinet 1
Yo i s f
2 t ; — "
Bb Clarinet 2
e
5
Bb Clarinet 3
o F
5 \ \
Eb Alto Clar.
o —
5
Bb Bass Clar.
DR 3 3 ¥ ¥ =
) — —_ —
Eb Al 8
0 Sax. 1 @ =E
nf
Eb Alto Sax. 2
’ —
Bb Tenor Sax.
>
5
Eb Bar. Sax.
Dj ¥ =
) —_ \ \
Bb Trp./Crnt. 1 " ; i ; ] 1 — 5 = F
v ‘ 7
Bb Trp./Crnt. 2 :
Bb Trp./Crnt. 3
FHorn 1
SEE=SS —= = —
nf
5
FHorn 2
D
5
FHomn3
v —
s —= — .
ey o = = be
C Trombone 1
mp
— o
C Trombone 2 5=t } —
mp
C Trombone 3 |5 } = = T i
—  ———— — Y
C Euph./Bar.
C Bass
El Ei - e £ ¥ d E
Timpani
nf d i
NI ) 3 3] 30 3 ) [
Drums
f ' [ — f ' f f f —
o : —— | ¢ | —
Glock. — — = i
R =

r 2 . z =
Flute 1.2 w
D
I/ —
Oboe
D f
Bassoon 1,2
Eb Clarinet
Bb Clarinet 1
Bb Clarinet 2
Bb Clarinet 3
—
Eb Alto Clar.
ERE
Eb Alto Sax. 2 =
—_— f
Bb Tenor
= t t
——— |/
—_— = = =
Eb Bar. Sax.
o — = = f # =— = = =
—_— f
= —
Bb Trp./Crnt. 1 = ; 7 = - ]
= = == == t = 2 =
—_— f
—_ \ \ — \ = —
Bb Trp./Crnt. 2 F T ; I i i i i T i + T F
—_— r =
) — ; : ; : T : = : —
Bb Trp./Crnt. 3
D ¥ = e === = 4 =
—
5 — = = = = = = = >
FHomn 1 = = 2 + r
Dl f f t = } =
—_— F
) ) = = - - - -
F Horn
= == ‘ : =
—_—
5 =
FHomn3
D £ =
e
— e L
S - = - = = &
C Trombone 1
—_— | r
= frr— — -
C Trombone 2
—_—— |
\ — L = = = —_—
C Trombone 3
= = 4 E = > =
—_— f
. —
C Euph./Bar.
\ — — . | |
C Bass
< T EREEERE ER = < 3 ERE = =
= s
Timpani
) 3 3 [3) /30 —3) /3 ) 3] 3
Drums
f ' I ' f ' 1 ' f ' f ' f f ' I
s
o : " =
Glock. =: =:
D




g 2_F s F ko .z F £ T~ -
Flute 1.2 =
D = ==
—
T~
= = > = _
Oboe = = =
— = = = = 7 =z — T 7
4 —
S i P z = e - = 3 _ _ /ﬁ_\ D
Bassoon 1.2 = f f T— T—— e — ! = et g‘ - f
’ —
— = R — - = >
5 S =
Eb Clarinet == — —_— . ;
= == ;%
/ ——
— =
) = = - - - - _ _ =
B Clarinet 1 ) ==
© =<7 t = = = =
s ——
) S ) . 7
Bb Clarinet 2 |5 2
v = = = 2 = 7
’ —
2 =
Bb Clarinet 3 | T : ; : ; = =
B n = = E = i 7
4 g
ps = ) ——
Eb Alto Clar.
O = - == o @ = = = 55 - == =SS
. = =% 2 H
5 = ) ) ) —
Bb Bass Clar.
v = = < = = 4 = ¥ = = = =
- - = - = = z S =
—
= > T _ _ _ _ 7
Eb Alto Sax. 1
—
) > = = e - - , - =
Eb Alto Sax. 2 |5 i
B ’ = t ; 7
——
Bb Tenor Sax.
Eb Bar. Sax.
Bb Trp./Crnt. 1
Bb Trp./Crnt. 2
Bb Trp./Crnt. 3

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.
C Bass
Timpani B
) ) e I IV e O e T e 4 z 1 3 ; i
Drums i 7 ; - - -
— 7 : — i — — 7 - 7 ;
—_—
5 N A
Glock. : ‘ s £
D ‘
f——— 5
* » ® 2 28

Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Eb Alto Sax. 2

Bb Tenor

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

FHorn 1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Bb Trp./Crnt. 3l

z z 2. = PR e 3 e = # z = £ £ o2
2 — N
>/—§\ _
- PR s— =
e
— = m:
=
H ER E =
f
z = z < =
T — ¥
- —_—
= 3 = = = == ; ;
i + = g
7 - - - - - = = = = = = s
f
H E E ? ER £ ——= =
f
— = = = = = = = = = = _ P — N
=
v - - 2
2 [—
s rf f z z z L S v 5
f
= z £ : H H P .
f
‘ . _
7 s B 4 = = 2 3
>A > > = e _
f
‘ e
H : H E H z ESNNE I El
f ) = E
7 : - ? = E :
J 3 /30 /3 /3y /3] — 13 i—
f f f T i ; 7 f 7 f ‘ f - ‘
f = =
fr—y } — — — T t —
& ; £ = = = = = P = = — 7
= o a1 32




Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Bb Bass Clar.

Eb Alto Sax. 1

Eb Alto Sax. 2

Bb Tenor Sax.

E» Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

Bb Trp./Crnt. 3

FHomn 1

FHomn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

"I Saw Mommy Kissing Santa Claus™

5.
B
)
B
0 ‘ ‘
T 5
nf
0 ‘ ‘
T 5
nf
0 ‘ ‘
o= 5
i
nf
0s
D — = ——
mp S
2 4
G = = 5 ]
nf
Gl
mp

E] v E] i i ERai = =i = = =
f
) 3 ) 3 ) /) ) 73] J /) /) 3
I ' I I ' I I ' I ' I ' I I ' I I ' I
'

2

* * ® * a7 38

g . P - _ - y i
Flute 1,2
& = -
mf marc. — — £
f . P = =
Oboe
N =f marc. |l — H
P s
Bassoon 1,2 h
P cresc. s
2 = I I _
Eb Clarinet
v mf marc. = R — } ‘f
Bb Clarinet 1
K—/j cresc. 7.
Bb Clarinet 2
> i
t\—//i
cresc f
Bb Clarinet 3
cresc f
Eb Alto Clar. &
4
s
- M == —
cresc. 7
— _
' f
cresc. 7
} — —
Eb Alto Sax. 2
cresc. 7
= = —— ————|
By Tenor o e e e e = i — 7 ; ¢ :
= R — t = B
mf marc. —_— | mp cresc. 7
\ = = - ) s
E»Bar. Sax. | — — —— ; — ; 5 5 g - T ; ;
i ) cresc. = = = ‘f
—— = —
Bb Trp./Crnt. 1 — f —_ g = _ :
mf marc, = ‘> s
2 === d
Bb Trp./Crnt. 2
f = = ‘
nf marc. [ 7
B» Trp./Crnt. 3[ ‘
v = T 2 =
mf marc. = 2
) ) ‘
FHomn 1 =
i cresc. ! 7
5
FHorn 2
i cresc. 7
5 ‘ ‘ ‘
FHomn3
D = =
£ " cresc H
I = S 7
C Trombone 1
nf marc [E—— -
PO S TS S d
C Trombone 2
mf marc. — ?
= = = !
C Trombone 3 —
’ ‘ B : - cresc. - S
C Euph./Bar.
P cresc. 7
! — | I , — ‘
C Bass —
= i = ¢ 3 ~ &=t = ] S =25
cresc. 7
Timpani
NI VIR e B s T e e VIR e R s R s N e T
Drums
— — f ¥ F— — f : f : f : ‘ ‘ ‘ —
cresc. f
2 / — > =
Glock. E=E==x
v nf marc =
K “ " @ 3 s




Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Bb Bass Clar.

Eb Alto Sax. 1

Eb Alto Sax. 2

Bb Tenor Sax.

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

Bb Trp./Crnt. 3

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Hy = = > - iz . 2 2 _#hs > > i~
o=
/i — I
T o= SSSEES e =
2 > > 2 ES 2 ta = ES bia =
- —_— ot = =
= ‘ 2 ‘
) - L _
G = == ‘ :F/ —
1)) > > > > > > t > t
o= = : = : :f\/ —
0 I I = I
1))
v < E] E G 3 202 @ E P —
E 2 E np
1)) t t
= < = 3 2 = = =
2 i
b 4
1)) L > = = =
0 I I
2 = = = = =
0 = = = = =
= f =
4 T t = = t =
= 2
1))
g z - 4
t . = — —=
E3 E} L = 02 52 + =
El E F} R = 3 H i
%
- 7 . N
N ) ) /30) 3y = |y ) 7 N I
1 T 1 1 T 1 T 1 T 1 T 1 1 T 1 T T 1 T
1! 1 wr
2

g = —_— = = =
Flute 1,2 % = %
v f = = ===
nf
f = —_— = = = -
Oboe
v s [ g 2
nf
2 e s F e hes £F
Bassoon 1,2 F
mp nf
= — —_— = =
Eb Clarinet = =
Y - = =
| \ —=
Bb Clarinet 1
i =
Bb Clarinet 2 t = T T t ;: =
Bb Clarinet 3 T o =t
t = Z = Z =
Eb Alto Clar.
) \ = \ \
lar.
D = =3 =z = i 7 = =z 7
— —r— =
[to Sax. 1
f i = = == = t
~— 1| o
— =
Eb Alto Sax. 2
f = = == = t
~— ”
Bb Tenor =
=]
nf
s = = \ \
E Bar. Sax. || 3 i — — — ; 3 i — ; i ; i
o = > —= = = = = =
Bb Trp./Crnt. 1 i
t e — —
nf
Bb Trp./Crnt. 2 ; = =: :
= S Z = =
- —F
Bb Trp./Crnt. 3 | £ ; T T ; ;: ; ;:
* \—/\—/ E = = =
2 : t t : —— ——r——
FHorn 1
v — T — & = == = f
nf
2 ] \ —_
F Horn
% —— =
~— e ———— o
5
FHomn 3
v o= = =F =
\_/ R Z E Z
— = - =
Py Y = z =
C Trombone 1
C Trombone 2
C Trombone 3
; N
C Euph./Bar.
mp nf
I I
C Bass
M 3 M ’ E] ’ B ERE 3 * < 3
Timpani
) ) J ) N e I I e B VS e Y J ) 30y, /)
Drums
1 ' 1 1 ' 1 1 ' 1 ' 1 ' 1 1 i 1 i 1 i 1 '
2
Glock.
D
51 52 53 54 55 56



Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Bb Bass Clar.

Eb Alto Sax. 1

Eb Alto Sax. 2

Bb Tenor Sax.

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

Bb Trp./Crnt. 3

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

g, 7 = 3 a3 - - = - s 3 £; F» z 2 =
S

o = N o e L= > > = N > N

o/\f = | = T ;> = = ¥ YT = =
: T : 5 P = PR
? ==

Iy T 5= ; = = =5 =5 = = P

& —

S

H = = = = = = = = = Z

o = = == —— : f :
P 7

H I N I > =

== — = 3

5 -

R = = 72 z 2 e & £ 2 - = z

0 = = = = p—

DI = & [z = = = = o = = 4 = = —_— = z
S

A .

.,} s - g = = 2= 2 < == = a3 =
= ==t : f f
S

— =
; =
Y £
===
S
> =
z 2

H = =

o t
S

5

== =
z ?

Z z

S

S

i =

i <

,

Ed 7 T 2 3 # L T 7 3 3 7 = — T 3
H E £ E

N N e N s ) ) ) ) g 17 4 g )T N

& 1 =1 LS e U L 1 L A

S

=

11

Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Eb Alto Sax. 2

Bb Tenor SA

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

“Santa Claus Is Coming To Town"

Bb Trp./Crnt. 3 lﬁg
D

¢ nf ' —_—
Y
L £ £ - %
nf ' ' -
f f i
nf -
Ve — —
s ‘ ‘
n _
of ' f
p _
= i
_
M—é’
= = S —
—_—
L
' -
; ; f i i
_
e —
% i i f
—
=== ; = == - ; = ; ; =
nf _
— —_—
# ; ; v ; i
e _
—

% ‘f‘. 2 E== ] E=S==—— == ; 2 ; —
e -
— T — — T K f T t T
> ; ; 7

P —

Ty T = ¥ ;

n _

5

R - e E—

5 \

= — =

. e
nf R —
—
nf -
—
wf ' ' ' ' — ————

; ; F . . e

nf ' ' _
| | | | |

Ei Ei Ei ERaa sSS B B ] S R E—
nf

n ——
J | J T3 3l ) 3 ) ) [ 3 ) 3
1 ' 1 1 ' 1 ' 1 ' 1 ' 1 ' 1 1 ' 1 ' ' 1 '
nf

2




p 2 H z F % . o £ .
Flute 1,2 % = =
v o —_—_—
/i — s e £ ..
Oboe
G = =
f - nf —_—
i = s b= i b, PR
Bassoon 1,2 =
f
S nf _—
ps Z > = e
Eb Clarinet
D = = i
f nf _—
H = - —
Bb Clarinet 1
5 i f
v nf —_—_—
p = . = _ = .
Bb Clarinet 2
D = ==
f nf —_—
5 —_—
Bb Clarinet 3 =
o= = = = =
s nf —_—_—
s — —_
Eb Alto Clar.
o= ¥ = = = =
s
= = , \
Bb Bass Clar.
o == T = = £ 4 = £ 3 3 3
nf —_—
pu = = = o ‘
Eb Alto Sax. 1
D = = f
s nf _—
5 > = =
Eb Alto Sax. 2
D)
s
p = —_— =
Bb Tenor Sax. |H f =T
S < =
s
s
E» Bar. Sax. - : t t
o= z Z 7
s
Bb Trp./Crnt. 1 =
D
s
Bb Trp./Crnt. 2 ! !
s
Bb Trp./Crnt. 3[
s
p = =
FHomn 1
D)
s
5
FHomn 2
o= =
s
N
FHomn3
o= Z
s
C Trombone 1
s
C Trombone 2
s
C Trombone 3
s cC
z = 2 p e
C Euph./Bar.
s
C Bass
s
Timpani
7 - k2
) g3 3 3 ) 3 3y 3 3 3 3
Drums
f ' f ' f ' f f ' — I ' f ' I ' "
f mf
2
Glock.

13

Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Eb Alto Sax. 2

Bb Tenor Sa

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

Bb Trp./Crnt. 3

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

/}\/—\p m
& ‘ :
Vi p—
/1\/—\‘ =
Y ' [—
—
£t . e E : - Pl PP
s nf
0 I
= f
s
P e
s ' -
. —.
0
% s =
S >>np\—/
= = —_— = hd
=k
— = 4 = =t =
>nf
— _ - ;
'
= = T S—
f f = 7
nf
= — T
! > f f
) T ; : —— — — =
f —
—_ F E—
Vi ' = = - >>
= = S - =
fv [
1)) = = — =
§‘ ;i = ;i —Fr— = — ; — ;i
s nf
i . _ E———
T i == = = > = >
H —
l@ ; — = | == —— —
s nf
h > e > =
£ . F z 2 DY e £ r
s E—
o | —
S [
/—_\ =
S ' ' - E - gi);y
FE . e .~ L . - P —
B R —_— = of
e [ S
=
S A— T 3 ¢ 33 7 2 3 T - E
4 : : _
} < -7 ' T —
d 3 ) ) Iy 3y 3y 3y 3 f3) 3 3
) T 1 1 T 1 T 1 T 1 T 1 T 1 " I 1 T T 1
f |
H




Flute 1,2

Oboe

Bassoon 1,2

Eb Clarinet

Bb Clarinet 1

Bb Clarinet 2

Bb Clarinet 3

Eb Alto Clar.

Bb Bass Clar.

Eb Alto Sax. 1

Eb Alto Sax. 2

Bb Tenor Sax.

Eb Bar. Sax.

Bb Trp./Crnt. 1

Bb Trp./Crnt. 2

5
Bb Trp./Crnt. 3j§
54
5

FHorn1

FHorn 2

FHomn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

% 4 t — = t ? 3
nf cresc. —————
5 . — . — =
© w = ——— 4
—_ (e - /—\ z
- £ s 5 belr e, o L eprief £ £
cresc. —_—
) L~ — =
& ===
D] i z =
nf cresc. -
P — P E—— — — ..
. < nf ' ‘crest = ' >< ﬁ‘
1)) " T L =
D] —_— »y“ cresc. ><V 7
1)) =
— crese. .
ﬁg —_—
B ] i Crese i S S ;f i
1)) t t
cresc. B —l 4
cresc. —_—
cresc. ' ‘< )j" ’
s 1 — =
cresc. —_—
S =S = = =
" Vi
5 . — = z
ke ‘ ‘ ====
nf cresc.
A
n orese . 7
2 — ] : ]
S~/ 1 crese. 3
1)) = =
~_ " cresc. v
1))
—
- e be iz 2
resc. — ﬁ‘
2 -
nf cresc. —_—
n oresc —_—— 5
P . A . Y eepri c £
: i ==5,
cresc. —_—
| | | = | N
A R~ 2
3 ) 3 ) 3y 3 3y 3 3 J —3 4 »
= —r T i+ £ ‘ —
cresc. —_—
2

15

‘ N : 3 e £ £ £ £ £ E
Flute 1,2 —
: > H - > 5 = z - -
Oboe
o 2 = o 3 i P
Bassoon 1,2
ps = > = z = = = =
Eb Clarinet 7 = i i t t T i
o t t
s
5 = = =
Bb Clarinet 1 |
o,
Bb Clarinet 2
f =
s
Bb Clarinet 3 : f
s
Eb Alto Clar.
= = 2 < =z < = =z
> > Lz = =
Eb Alto Sax. 2
Bb Tenor Sg i i i
= t = =
Eb Bar. Sax.
o= s E ? = f = 2 =1
s z
) — =
B» Trp./Crnt. 1 |5
v =2 = = t = = =z = E: =
s
— =
Bb Trp./Crnt. 2
s
) — =
Bb Trp./Crnt. 3 T = I ; = = — T i g T
o = = = f Z = = = z z
s
H = > > = = = =
FHorn 1
D
s
) = = \ = =
FHorn 2
v = = =
s
5
FHomn3
DR Z Z Z z
4 = =
—F % = bz £ £ k=3 z
C Trombone 1
s
= = - - = = = -
C Trombone 2 %
s
C Trombone 3
7 = = z z
Z Lz = = = Lz = = Z s
C Euph./Bar. T T = T
s
I |
C Bass 2
{ El = El % 2 E4 E ES E .
7 z e
Timpani
s
! J J J — ) —
Drums
[ I I f t f f i f +
s
2
Glock.
D
88 89 % o
16




“Let It Snow, Let It Snow, Let It Snow"
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